# On the Randić index of unicyclic graphs with girth $g$ * 

Guizhen $\mathrm{Liu}^{\dagger}$, Yan Zhu, Jiansheng Cai<br>School of Mathematics and System Sciences<br>Shandong University, Jinan, Shandong, P.R. China, 250100<br>Email: gzliu@sdu.edu.cn; zhuyan@math.sdu.edu.cn

(Received June 14, 2006)


#### Abstract

The Randić index $R(G)$ of a graph $G$ is the sum of the weights $(d(u) d(v))^{-1 / 2}$ of all edges $u v$ of $G$, where $d(u)$ denotes the degree of the vertex $u$. In this paper, we give sharp lower bounds of Randić index of unicyclic graphs with girth $g$ which partly confirms a conjecture by Aouchiche, Hansen and Zheng.


## 1 Introduction

The Randić index of an organic molecule whose molecular graph is $G$ was introduced by the chemist Milan Randić in 1975 [14] as

$$
R(G)=\sum_{u v} \frac{1}{\sqrt{d(u) d(v)}},
$$

where $d(u)$ and $d(v)$ stand for the degrees of the vertices $u$ and $v$, respectively, and the summation goes over all edges $u v$ of $G$. This topological index, sometimes called connectivity index, has been successfully related to physical and chemical properties of organic molecules

[^0]and become one of the most popular molecular descriptors. This is the only topological index to which two books $[7,8]$ are devoted.

A simple connected graph $G$ is called unicyclic if it contains exactly one cycle, it is a cycle or a cycle with trees attached to its vertices. A pendant vertex is a vertex of degree 1. The girth of a graph is the length of a shortest cycle. Let $\mathscr{U}_{n, g}=\{G: G$ is a unicyclic graph with $n$ vertices and girth $g\}$, where $3 \leq g \leq n$. In this paper, unicyclic graphs with girth $g$ are considered, and the lower bounds of their Randić index are given.

Let $n$ be a positive integer with $n \geq 3$. We define an unicyclic graph $\mathcal{U}^{0}(n)$ with $n$ vertices as follows: $\mathcal{U}^{0}(n)$ is obtained from the star graph $K_{1, n-1}$ by connecting two pendant vertices of $K_{1, n-1}$ (see Figure 1.1).


Figure 1.1

In this paper, we only consider finite, undirected and simple graphs. Undefined terminologies and notations may refer to [3].

There are many results concerning Randić index. B. Bollobás and P. Erdös [2] gave the sharp lower bound of $R(G) \geq \sqrt{n-1}$ when $G$ is a graph of order $n$ without isolated vertices. Pan, Xu and Yang [13] gave the sharp lower bounds on the Randić index of unicyclic graphs with $n$ vertices and $k$ pendant vertices. For more references, see $[4,5,6,9,10,11,12,15]$.

In [1], Aouchiche, Hansen and Zheng proposed a conjecture:
Conjecture. For any connected graph on $n \geq 3$ vertices with Randić index $R$ and girth $g$,

$$
R \geq \frac{n-3+\sqrt{2}}{\sqrt{n-1}}+\frac{7}{2}-g \text { and } R \geq \frac{3 n-9+3 \sqrt{2}}{g \sqrt{n-1}}+\frac{3}{2 g},
$$

with equalities if and only if $G$ is $\mathcal{U}^{0}(n)$.
In this paper, we give sharp lower bounds of Randić index of unicyclic graphs with girth $g$ which partly confirms the conjecture.

## 2 Some Lemmas

In this section, we will give some lemmas which will be used in Section 3.

Lemma 2.1 Let $x$ be a positive integer. Denote

$$
f(x)=\left(\frac{1}{\sqrt{x+1}}-\frac{1}{\sqrt{x}}\right)(x-2+\sqrt{2})+\frac{1}{\sqrt{x+1}} .
$$

Then $f(x)$ is monotonously decreasing in $x$.

Proof. Note that $\frac{d f(x)}{d x}=\frac{x+3-\sqrt{2}}{2(x+1) \sqrt{x+1}}-\frac{x+2-\sqrt{2}}{2 x \sqrt{x}}=\frac{\sqrt{\xi}(3 \sqrt{2}-6-\xi)}{4 \xi^{3}}<0$ where $x<\xi<x+1$. Thus $f(x)$ is monotonously decreasing in $x$.

Lemma 2.2 For $x \geq 5, \frac{x-4+\sqrt{2}}{\sqrt{x-2}}+\frac{1}{2}>\frac{x-3+\sqrt{2}}{\sqrt{x-1}}$.

Proof. Let $f(x)=\frac{x-3+\sqrt{2}}{\sqrt{x-1}}-\frac{x-4+\sqrt{2}}{\sqrt{x-2}}-\frac{1}{2}$. Since $f(x)=\frac{\xi+1-\sqrt{2}}{2(\xi-1)^{\frac{3}{2}}}-\frac{1}{2}$ where $x-1<\xi<x$, we have $\frac{d f(x)}{d x}=\frac{-(\xi-1)^{\frac{3}{2}}-(6-3 \sqrt{2})(\xi-1)^{\frac{1}{2}}}{4(\xi-1)^{3}}<0$. So $f(x)$ is monotonously decreasing in $x$. Then $f(x) \leq f(5)=\frac{3+3 \sqrt{2}-2 \sqrt{3}-2 \sqrt{6}}{6}<0$. That is, $\frac{x-4+\sqrt{2}}{\sqrt{x-2}}+\frac{1}{2}>\frac{x-3+\sqrt{2}}{\sqrt{x-1}}$.

Lemma 2.3 Let $x$ be a positive integer. Denote

$$
f(x)=\frac{\sqrt{2}+2 x}{2 \sqrt{x+1}}-\frac{\sqrt{2}-2+2 x}{2 \sqrt{x}} .
$$

Then $f(x)$ is monotonously decreasing in $x$.

Proof. Note that $f(x)=\frac{2 \xi-\sqrt{2}+2}{4 \xi \sqrt{\xi}}$ where $x<\xi<x+1$. Hence $\frac{d f(x)}{d x}=\frac{\sqrt{\xi}(-2 \xi+3 \sqrt{2}-6)}{8 \xi^{3}}<0$. So $f(x)$ is monotonously decreasing in $x$.

Lemma 2.4 Let $x, y, n$ be positive integers with $2 \leq x \leq n-2$ and $2 \leq y \leq n-2$. Denote

$$
f(x, y)=-\frac{1}{\sqrt{x y}}+\frac{1}{\sqrt{2 x}}+\frac{1}{\sqrt{2 y}} .
$$

Then $f(x, y) \geq-\frac{1}{n-2}+\frac{2}{\sqrt{2(n-2)}}$.
Proof. Note that $\frac{\partial f(x, y)}{\partial x}=-\frac{1}{2 \sqrt{2 x^{3}}}+\frac{y}{2 \sqrt{x^{3} y^{3}}}<0$ and $\frac{\partial f(x, y)}{\partial y}=-\frac{1}{2 \sqrt{2 y^{3}}}+\frac{x}{2 \sqrt{x^{3} y^{3}}}<0$. Since $x \leq n-2$ and $y \leq n-2$, we have $f(x, y) \geq-\frac{1}{n-2}+\frac{2}{\sqrt{2(n-2)}}$.

## 3 Main results

Denote $\varphi(n, g)=\frac{n-3+\sqrt{2}}{\sqrt{n-1}}+\frac{7}{2}-g, \psi(n, g)=\frac{3 n-9+3 \sqrt{2}}{g \sqrt{n-1}}+\frac{3}{2 g}$. We have the following results.

Theorem 3.1 Let $G \in \mathscr{U}_{n, 3}$. Then $R(G) \geq \varphi(n, 3)$ and $R(G) \geq \psi(n, 3)$ with equalities if and only if $G$ is $\mathcal{U}^{0}(n)$.

Proof. Note that $\varphi(n, 3)=\psi(n, 3)=\frac{n-3+\sqrt{2}}{\sqrt{n-1}}+\frac{1}{2}$, we apply induction on $n$. For $n=3$, $G \cong C_{3}$, then $R(G)=\frac{3}{2}=\varphi(3,3)$. For $n=4, G \cong \mathcal{U}^{0}(4)$, then $R(G)=\frac{\sqrt{6}+\sqrt{3}}{3}+\frac{1}{2}=\varphi(4,3)$. So in the following proof, we assume that $n \geq 5$. Let $G^{\prime} \in \mathscr{U}_{n-1,3}$. Assume the Theorem is true when $G \in \mathscr{U}_{n-1,3}$. In the following four cases, we get a new graph $G \in \mathscr{U}_{n, 3}$ from $G^{\prime}$ by adding a vertex $v$. For convenience, we denote $u, w, s \in C_{3}$.

Case 1. $d_{G}(v)=1$ and $v$ is adjacent to any vertex of the cycle $C_{3}$.
Without loss of generality, we assume that $v$ is adjacent to $u$. Let $d_{G^{\prime}}(u)=d$. Denote $N(u) \backslash\{w, s\}=\left\{y_{1}, y_{2}, \ldots, y_{d-2}\right\}$. We have $2 \leq d \leq n-2, d(s) \geq 2, d(w) \geq 2, d\left(y_{i}\right) \geq 1$. Thus

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right)\left(\frac{1}{\sqrt{d(s)}}+\frac{1}{\sqrt{d(w)}}\right)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right) \sum_{i=1}^{d-2} \frac{1}{\sqrt{d\left(y_{i}\right)}}+\frac{1}{\sqrt{d+1}} \\
& \geq \varphi(n-1,3)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right)\left(\frac{1}{\sqrt{d(s)}}+\frac{1}{\sqrt{d(w)}}\right)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right) \sum_{i=1}^{d-2} \frac{1}{\sqrt{d\left(y_{i}\right)}}+\frac{1}{\sqrt{d+1}} \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right)\left[\left(\frac{1}{\sqrt{d(s)}}+\frac{1}{\sqrt{d(w)}}\right)+(d-2)\right]+\frac{1}{\sqrt{d+1}} \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right)(d-2+\sqrt{2})+\frac{1}{\sqrt{d+1}} . \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\left(\frac{1}{\sqrt{n-2+1}}-\frac{1}{\sqrt{n-2}}\right)(n-2-2+\sqrt{2})+\frac{1}{\sqrt{n-2+1}} \\
& =\frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\frac{1}{\sqrt{n-1}}+\frac{n-4+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}} \\
& =\varphi(n, 3) .
\end{aligned}
$$

The last inequality follows by Lemma 2.1 as $d \leq n-2$.
In order for the equality to hold, all inequalities in the above argument should be equalities. Thus we have

$$
R\left(G^{\prime}\right)=\varphi(n-1,3), d(s)=d(w)=2, d\left(y_{i}\right)=1, d=n-2 .
$$

By the induction hypothesis, $G^{\prime} \cong \mathcal{U}^{0}(n-1)$. Hence $G \cong \mathcal{U}^{0}(n)$ and it is easy to check $R\left(\mathcal{U}^{0}(n)\right)=\varphi(n, 3)$.

Case 2. $d_{G}(v)=1$. The vertex adjacent to $v$ is a pendant vertex $p$ of $G^{\prime}$.
Denote the unique vertex adjacent to $p$ is $q$. Let $d_{G^{\prime}}(q)=d$. We have $d \geq 2$. Thus

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)-\frac{1}{\sqrt{d}}+\frac{1}{\sqrt{2 d}}+\frac{\sqrt{2}}{2} \\
& \geq \varphi(n-1,3)+\frac{1-\sqrt{2}}{\sqrt{2 d}}+\frac{\sqrt{2}}{2} \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\frac{1-\sqrt{2}}{2}+\frac{\sqrt{2}}{2} \\
& =\frac{n-4+\sqrt{2}}{\sqrt{n-2}}+1 . \\
& >\varphi(n, 3) .
\end{aligned}
$$

The last inequality follows by Lemma 2.2.
Case 3. $d_{G}(v)=1$. The vertex adjacent to $v$ is neither a pendant vertex of $G^{\prime}$ nor a vertex of the cycle $C_{3}$.

Denote the vertex adjacent to $v$ is $r$. Let $d_{G^{\prime}}(r)=d$. We have $2 \leq d \leq n-4$. Denote $N_{G^{\prime}}(r)=\left\{y_{1}, y_{2}, \ldots, y_{d}\right\}$. Then there exists a vertex whose degree is at least 2 in these $d$ vertices. Thus

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right) \sum_{i=1}^{d} \frac{1}{\sqrt{d\left(y_{i}\right)}}+\frac{1}{\sqrt{d+1}} \\
& \geq \varphi(n-1,3)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right)\left(\frac{1}{\sqrt{2}}+d-1\right)+\frac{1}{\sqrt{d+1}} \\
& =\frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\frac{\sqrt{2}+2 d}{2 \sqrt{d+1}}-\frac{\sqrt{2}-2+2 d}{2 \sqrt{d}} . \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}+\frac{2 n-8+\sqrt{2}}{2 \sqrt{n-3}}-\frac{2 n-10+\sqrt{2}}{2 \sqrt{n-4}} . \\
& >\varphi(n, 3) .
\end{aligned}
$$

The second inequality follows by Lemma 2.3 as $d \leq n-4$. To check that the last inequality holds, refer the readers to Appendix.

Case 4. $d_{G}(v) \geq 2$.
If $d_{G}(v)>2$, then there exists more than one cycle in the graph $G$, which contradicts to the definition of unicyclic graph. So we only consider $d_{G}(v)=2$. In this case, the vertex
$v$ split one edge of $G^{\prime}$, we assume that the edge is $x y$. If $d(x)=1$ or $d(y)=1$, it is equivalent to the case that $v$ adjacent to a pendant vertex, as we have proved in Case 2. So $2 \leq d(x) \leq n-2,2 \leq d(y) \leq n-2$. Thus we have

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)-\frac{1}{\sqrt{d(x) d(y)}}+\frac{1}{\sqrt{2 d(x)}}+\frac{1}{\sqrt{2 d(y)}} \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}-\frac{1}{\sqrt{d(x) d(y)}}+\frac{1}{\sqrt{2 d(x)}}+\frac{1}{\sqrt{2 d(y)}} \\
& \geq \frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}-\frac{1}{n-2}+\frac{2}{\sqrt{2(n-2)}} \\
& =\frac{n-4+2 \sqrt{2}-\frac{1}{\sqrt{n-2}}+\frac{1}{2} .}{\sqrt{n-2}}
\end{aligned}
$$

The second inequality follows by Lemma 2.4.
If $n \geq 8$, we have $\frac{1}{\sqrt{n-2}}<\sqrt{2}-1$, then $R(G) \geq \frac{n-4+2 \sqrt{2}-\frac{1}{\sqrt{n-2}}}{\sqrt{n-2}}+\frac{1}{2}>\frac{n-3+\sqrt{2}}{\sqrt{n-2}}+\frac{1}{2}>$ $\frac{n-3+\sqrt{2}}{\sqrt{n-1}}+\frac{1}{2}=\varphi(n, 3)$. If $5 \leq n \leq 7$, there is only one graph (see Figure 3.1) satisfied this case.


Figure 3.1 $R(G)=\frac{4 \sqrt{6}+4 \sqrt{3}+3}{6}>\varphi(7,3)$

This completes the proof of our Theorem.

Theorem 3.2 Let $G \in \mathscr{U}_{n, g}$. Then $R(G) \geq \varphi(n, g)$ and $R(G) \geq \psi(n, g)$ with equalities if and only if $G$ is $\mathcal{U}^{0}(n)$.

Proof. We apply induction on $g$. For $g=3$, the theorem holds by Theorem 3.1. So in the following proof, we assume that $g \geq 4$. Let $G^{\prime} \in \mathscr{U}_{n-1, g-1}$. Now, we add a vertex $v$ on $G^{\prime}$ and consider the following two cases.

Case 1. We get a new graph $G \in \mathscr{U}_{n, g}$ by adding a vertex $v$ on $G^{\prime}$.

It is not difficult to see that $v$ must split one of the edges of the cycle $C_{g-1}$. We assume that the edge is $x y$. Then $2 \leq d(x) \leq n-2,2 \leq d(y) \leq n-2$. Thus

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)-\frac{1}{\sqrt{d(x) d(y)}}+\frac{1}{\sqrt{2 d(x)}}+\frac{1}{\sqrt{2 d(y)}} \\
& \geq \varphi(n-1, g-1)-\frac{1}{\sqrt{d(x) d(y)}}+\frac{1}{\sqrt{2 d(x)}}+\frac{1}{\sqrt{2 d(y)}} \\
& \geq \varphi(n-1, g-1)-\frac{1}{n-2}+\frac{2}{\sqrt{2(n-2)}} \\
& >\frac{n-4+\sqrt{2}}{\sqrt{n-2}}+\frac{7}{2}-g+1 \\
& \geq \frac{n-3+\sqrt{2}}{\sqrt{n-2}}+\frac{7}{2}-g \\
& >\frac{n-3+\sqrt{2}}{\sqrt{n-1}}+\frac{7}{2}-g \\
& =\varphi(n, g)
\end{aligned}
$$

as mentioned in Lemma 2.4, the second inequality holds.
From Case 4 of Theorem 3.1, we also know that if $n \geq 8,-\frac{1}{\sqrt{d(x) d(y)}}+\frac{1}{\sqrt{2 d(x)}}+\frac{1}{\sqrt{2 d(y)}} \geq$ $\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}}$. Thus

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)-\frac{1}{\sqrt{d(x) d(y)}}+\frac{1}{\sqrt{2 d(x)}}+\frac{1}{\sqrt{2 d(y)}} \\
& \geq \psi(n-1, g-1)+\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}} \\
& \geq \frac{\frac{3 n-12+3 \sqrt{2}}{\sqrt{n-2}}+\frac{3}{2}}{g-1}+\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}} .
\end{aligned}
$$

So $R(G)-\psi(n, g) \geq \frac{\frac{3 n-12+3 \sqrt{2}}{\sqrt{n-2}}+\frac{3}{2}}{g-1}+\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}}-\frac{3 n-9+3 \sqrt{2}}{g \sqrt{n-1}}-\frac{3}{2 g}$. Let $f(n)=$ $\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}}$. It is follows that $f(n)$ is strictly monotone decreasing from Lemma 2.2. Thus $f(n) \leq f(5)<\frac{3}{8}$. We have $R(G)-\psi(n, g)=\frac{1}{g(g-1)}\left[f(n)(g-2)^{2}-4 f(n)+\frac{3}{2}+\frac{3 n-9+3 \sqrt{2}}{\sqrt{n-1}}\right]>$ 0 . That is, $R(G)>\psi(n, g)$ when $n \geq 8$.

If $n=5,6,7, g \geq 4$, then the theorem holds clearly by the facts that the total 23 graphs are listed in Figure 3.2, and the following values maybe useful.
$\psi(5,4) \doteq 1.655, \psi(5,5) \doteq 1.324, \psi(6,4) \doteq 1.856, \psi(6,5) \doteq 1.484, \psi(6,6) \doteq 1.237, \psi(7,4) \doteq 2.033$, $\psi(7,5) \doteq 1.626, \psi(7,6) \doteq 1.355, \psi(7,7) \doteq 1.162$.

By all the above, for $g \geq 4$, we have $R(G)>\varphi(n, g)$ and $R(G)>\psi(n, g)$. Thus, it follows from Theorem 3.1 that $R(G) \geq \varphi(n, g)$ and $R(G) \geq \psi(n, g)$ with equalities if and only if $G$


Figure 3.2
is $\mathcal{U}^{0}(n)$.
Case 2. We get a new graph $G^{\prime \prime} \in \mathscr{U}_{n, g-1}$ by adding a vertex $v$ on $G^{\prime}$.
Apply induction on $n$, we can easily conclude that $R\left(G^{\prime \prime}\right) \geq \varphi(n, g-1)$ by Theorem 3.1. So we only need to prove that $R\left(G^{\prime \prime}\right) \geq \psi(n, g-1)$. As proof methods similar to the cases of Theorem 3.1, we simplified the proof of the following subcases.

Subcase 2.1. $d_{G^{\prime \prime}}(v)=1$ and $v$ is adjacent to any vertex of the cycle $C_{g-1}$.

$$
\begin{aligned}
R\left(G^{\prime \prime}\right) & \geq R\left(G^{\prime}\right)+\frac{1}{2}+\left(\frac{1}{\sqrt{n-2+1}}-\frac{1}{\sqrt{n-2}}\right)(n-2-2+\sqrt{2})+\frac{1}{\sqrt{n-2+1}} \\
& \geq \frac{3 n-12+3 \sqrt{2}}{(g-1) \sqrt{n-2}}+\frac{3}{2(g-1)}+\frac{1}{2}+\frac{1}{\sqrt{n-1}}+\frac{n-4+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}} \\
& >\psi(n, g-1) .
\end{aligned}
$$

The last inequality follows as $g \geq 4$.
Subcase 2.2. $d_{G^{\prime \prime}}(v)=1$. The vertex adjacent to $v$ is a pendant vertex $p$ of $G^{\prime}$.

Denote the unique vertex adjacent to $p$ is $q$. Let $d_{G^{\prime}}(q)=d$. We have $d \geq 2$. Thus

$$
\begin{aligned}
R\left(G^{\prime \prime}\right) & =R\left(G^{\prime}\right)-\frac{1}{\sqrt{d}}+\frac{1}{\sqrt{2 d}}+\frac{\sqrt{2}}{2} \\
& \geq \frac{3 n-12+3 \sqrt{2}}{(g-1) \sqrt{n-2}}+\frac{3}{2(g-1)}+\frac{1-\sqrt{2}}{\sqrt{2 d}}+\frac{\sqrt{2}}{2} \\
& \geq \frac{3 n-12+3 \sqrt{2}}{(g-1) \sqrt{n-2}}+\frac{3}{2(g-1)}+\frac{1}{2} \\
& >\psi(n, g-1) .
\end{aligned}
$$

The last inequality follows as $n \geq 5$.
Subcase 2.3. $d_{G^{\prime \prime}}(v)=1$. The vertex adjacent to $v$ is neither a pendant vertex of $G^{\prime}$ nor a vertex of the cycle $C_{g-1}$.

Denote the vertex adjacent to $v$ is $r$. Let $d_{G^{\prime}}(r)=d$. We have $2 \leq d \leq n-4$. Denote $N_{G^{\prime}}(r)=\left\{y_{1}, y_{2}, \ldots, y_{d}\right\}$. Then there exists a vertex whose degree is at least 2 in these $d$ vertices. Thus

$$
\begin{aligned}
R(G) & =R\left(G^{\prime}\right)+\left(\frac{1}{\sqrt{d+1}}-\frac{1}{\sqrt{d}}\right) \sum_{i=1}^{d} \frac{1}{\sqrt{d\left(y_{i}\right)}}+\frac{1}{\sqrt{d+1}} \\
& \geq \frac{3 n-12+3 \sqrt{2}}{(g-1) \sqrt{n-2}}+\frac{3}{2(g-1)}+\frac{2 n-8+\sqrt{2}}{2 \sqrt{n-3}}-\frac{2 n-10+\sqrt{2}}{2 \sqrt{n-4}} \\
& >\psi(n, g-1) .
\end{aligned}
$$

The last inequality follows as $g \geq 4$.
Subcase 2.4. $d_{G^{\prime \prime}}(v) \geq 2$.

$$
\begin{aligned}
R\left(G^{\prime \prime}\right) & \geq \frac{3 n-12+3 \sqrt{2}}{(g-1) \sqrt{n-2}}+\frac{3}{2(g-1)}-\frac{1}{n-2}+\frac{2}{\sqrt{2(n-2)}} \\
& >\psi(n, g-1)
\end{aligned}
$$

The last inequality follows as $g \geq 4$.
It follows from Case 1 and Case 2 that the Theorem holds.

## 4 Remarks

Now we show that the conjecture by Aouchiche, Hansen and Zheng is true for unicyclic graphs. But we still do not know whether it is true for any connected graphs. The case maybe much more complicated.

## Acknowledgements

We would like to express our thanks to the referees for the valuable suggestions which helped to improve the paper.

## References

[1] M. Aouchiche, P. Hansen and M. L. Zheng, Variable neighborhood search for extremal graphs. 19. Further conjectures and results about the Randić index, Groupe detudes et de recherche en analyse des decisions, http://www.gerad.ca/fichiers/cahiers/G-2006-27.pdf.
[2] B. Bollobás and P. Erdös, Graphs with extremal weights, Ars Combin. 50(1998), 225233.
[3] J.A. Bondy and U.S.R. Murty. Graph Theory with Applications, Macmillan Press, New York, 1976.
[4] J. Gao and M. Lu, On the Randić index of unicyclic graphs, MATCH Commun. Math. Comput. Chem. 53 (2005), 377-384.
[5] I. Gutman, O. Miljković, G. Caporossi and P. Hansen, Alkanes with small and large Randić connectivity indices, Chem. Phys. Lett. 306 (1999), 366-372.
[6] Y. M. Hu and X. L. Li, Trees with maximum general Randic index, MATCH Commun. Math. Comput. Chem. 52(2004), 129-146.
[7] L.B. Kier and L.H. Hall, Molecular Connectivity in Chemistry and Drug Research, Academic Press, New York, 1976.
[8] L.B. Kier and L.H. Hall, Molecular Connectivity in Structure-Activity Analysis, Wiley, New York, 1986.
[9] H. Li and M. Lu, The m-connectivity index of graphs, MATCH Commun. Math. Comput. Chem. 54 (2005), 417-423.
[10] X. Li, X. Wang and B. Wei, On the lower and upper bounds for general Randić index of chemical ( $n, m$ )-graphs, MATCH Commun. Math. Comput. Chem. 52(2004), 157-166.
[11] X. Li and Y. Yang, Sharp bounds for the general Randić index, MATCH Commun. Math. Comput. Chem. 51(2004), 155-166.
[12] X. Li and J. Zheng, Extremal chemical trees with minimum or maximum general Randić index, MATCH Commun. Math. Comput. Chem. 55 (2006), 381-390.
[13] X. F. Pan, J. M. Xu and C. Yang, On the Randić index of unicyclic graphs with $k$ pendant vertices, MATCH Commun. Math. Comput. Chem. 55 (2006), 409-417.
[14] M. Randić, On the characterization of molecular branching, J. Amer. Chem. Soc. 97 (1975), 6609-6615.
[15] N. Trinajstić, Chemical Graph Theory, CRC Press, 1992.

## Appendix

Proposition 1. For $x>3, \frac{-(12-6 \sqrt{2}) \sqrt{x(x-3)}+6 x-12-3 \sqrt{2}}{2 \sqrt{x-3}}>0$.
Proof. It is easy to calculate that $-\left(\frac{7-\frac{13}{2} \sqrt{2}}{5-4 \sqrt{2}}\right)^{2}-\frac{9+4 \sqrt{2}}{10-8 \sqrt{2}}>0$, thus

$$
(180-144 \sqrt{2})\left[\left(x-\frac{7-\frac{13}{2} \sqrt{2}}{5-4 \sqrt{2}}\right)^{2}\right]-\left(\frac{7-\frac{13}{2} \sqrt{2}}{5-4 \sqrt{2}}\right)^{2}-\frac{9+4 \sqrt{2}}{10-8 \sqrt{2}}<0
$$

That is,

$$
36 x^{2}-(144+36 \sqrt{2}) x+(162+72 \sqrt{2})>(216-144 \sqrt{2}) x(x-3)
$$

Hence $6 x-12-3 \sqrt{2}>(12-6 \sqrt{2}) \sqrt{x(x-3)}$. Clearly, the Proposition holds.
Proposition 2. Let $n$ be a positive integer with $n \geq 5$. We will show that $\frac{2 n-8+\sqrt{2}}{2 \sqrt{n-3}}-$ $\frac{2 n-10+\sqrt{2}}{2 \sqrt{n-4}}>\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}}$.
Proof. Since $\frac{2 n-8+\sqrt{2}}{2 \sqrt{n-3}}-\frac{2 n-10+\sqrt{2}}{2 \sqrt{n-4}}=\frac{2 \zeta-\sqrt{2}+2}{4 \zeta \sqrt{\zeta}}$ and $\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}}=\frac{\xi-\sqrt{2}+2}{2 \xi \sqrt{\xi}}$ where $n-4<$ $\zeta<n-3, n-2<\xi<n-1$, we have

$$
\begin{aligned}
\frac{2 n-8+\sqrt{2}}{2 \sqrt{n-3}}-\frac{2 n-10+\sqrt{2}}{2 \sqrt{n-4}}-\frac{2 \xi-\sqrt{2}+2}{4 \xi \sqrt{\xi}} & =\frac{(\xi-\zeta)(4 x+12-6 \sqrt{2}) \sqrt{x}}{16 x^{3}} \\
& >\frac{(2 x+6-3 \sqrt{2}) \sqrt{x}}{8 x^{3}} \\
& =\frac{2 x^{\frac{3}{2}}+(6-3 \sqrt{2}) x^{\frac{1}{2}}}{8 x^{3}} \\
& >\frac{2(\xi-3)^{\frac{3}{2}}+(6-3 \sqrt{2})(\xi-3)^{\frac{1}{2}}}{8 \xi^{3}} \\
& =\frac{(2 \xi-3 \sqrt{2}) \sqrt{\xi-3}}{8 \xi^{3}}
\end{aligned}
$$

where $\zeta<x<\xi$, the first inequality holds because $\xi-\zeta>1$ and the second inequality holds because $\xi-3<x<\xi$. We also have

$$
\frac{n-3+\sqrt{2}}{\sqrt{n-1}}-\frac{n-4+\sqrt{2}}{\sqrt{n-2}}-\frac{2 \xi-\sqrt{2}+2}{4 \xi \sqrt{\xi}}=\frac{2-\sqrt{2}}{4 \xi \sqrt{\xi}}=\frac{4 \xi^{\frac{3}{2}}-2 \sqrt{2} \xi^{\frac{3}{2}}}{8 \xi^{3}}
$$

Let $f(\xi)=(2 \xi-3 \sqrt{2}) \sqrt{\xi-3}-4 \xi^{\frac{3}{2}}+2 \sqrt{2} \xi^{\frac{3}{2}}$. In order to show the Proposition, it is sufficient to show that $f(\xi) \geq 0$. It is easy to check that $\frac{d f(\xi)}{d \xi}=\frac{-(12-6 \sqrt{2}) \sqrt{\xi(\xi-3)}+6 \xi-12-3 \sqrt{2}}{2 \sqrt{\xi-3}}$. Then by Proposition $1, f(\xi)$ is strictly monotone increasing. Since $f(9)>0$, it follows that $f(\xi)>0$ for $\xi \geq 9$, that is, the Proposition holds for $n \geq 11$. When $5 \leq n \leq 10$, we can directly prove that the Proposition is correct. The proof is completed.


[^0]:    *This research is supported by a research grant $\operatorname{NSFC}(10471078)$ and $\operatorname{SRFDP}(20040422004)$ of China.
    ${ }^{\dagger}$ Corresponding author.

